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Reading Problems and Exercises
for Thai Learners of English

1.8.P. Nation
D.T.EC. Language Institute
K. Nation

Wherever possible our teaching should be based on research so that we
are sure that what we present to our learners is dealing with real problems and is
not creating unnecessary difficulties, The investigation described here is an attempt
to give teaching a positive offect by trying to isolate some of the problems Thai
learners of English encounter while reading, and by selecting reading exercises that
deal with the problems.

Procedure
. At different times a class of 18 adult Thai learners studying at the

.
D.T.EC. Language Institute were given short passages of English to translate into
Thai. The learners could use a dictionary il necessary but were not allowed to
communicate with each other while doing the translation. The learners were all
graduates who had not used English for several yvears and could be loosely classified
as intermediate in their command of English, After the passages were translated
into Thai, one of the researchers transtated them back into English in order to see
where the learners’ translations differed from the meaning of the original. At the
same time the misinterpretations that the learners made were studied in an attempt
to see what caused them. This was a difficult and time-consuming process and was
full of difficulties. However, the findings justified the effort required.
Findings
The following sample passage is presented in two forms, first in its original
form, and second as a rétranslation including the commonest errors made by the
learners in their translation into Thai. In the second form the errors are italicized
1. The original passage
This population explosion may be the greatest challenge of the present
time. Within the next forty years, the world population may double. Can
the frentiers of science meet the needs of the crowded world of tomorrow?
If the present rate of population increase continues for the next 600 or
700 years, there will be standing room only. Each person will have between
3 to 10 square Feet of space in which to live. This includes the mountaintops,
- deserts, and the ice and snow [ields of the polar regions. OfF course
nobody expects such a thing to happsn. War plague, famine, or some
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other catastrophe can be expected to occur long before the population
reaches this point. Actually the danger is not in an overcrowded world
where people are huddled together so that they cannotf move arms and
legs, but in an upset bafance between population and resources.

2. The reteanstation including the commonest arrors.

(The percentage figures in brackets indicate the approximate proportion of learners
who made this error. So, (60%) means that eleven learners out of a group of

18 made this error.)
This population explosion is (60%) the great (50%) chalienge of the
ithin the next forty years, the world population will (90%)

present time. W
(50%) enough land (50%) for the crowded

double. Science can (30%) find
world of tomorrow.
If in the present the rate (50%) of population inerease continues, in (35%}
the Tiext 600 or 700 years there will be rooms for standing (35%) only.
Each person will have between 3 to 10 square feet of space in which to
live. This includes the mountaintops, deserts, and the ice and snow fields
of the polar regions. Of course nobody expects the things that will (35%)
happen such @s war, plague, famine, or some other catastrophe. These
things will (35%) occur for a long lime before the population reaches
this point. Actually the danger is not in an_overcrowded world. Everywhere
(20%) people are huddled together so that they cannot move arms and
legs, but this will cause am upset balance between population and

resnurces. .
The most striking differences b

in three main areas, clause relationships,
us look at each of .these areas.in turm, bringing in examples

tion.

stween the original and the translation occus
homography and/or reference words. Let
from other retransla-

Clause relationships: . , ]
The main clause in this sentence taken from the passage has two parts.
Actually the danger is not in an overcrawded world - where people are
huddled together so that they cannot move arms -and legs, but in an
. upset balance between population .and resources. . .. .

The first part of- the main clause- Actually the danger is not in an overcrowded
iworld is separated from the second ‘part but in an upset balance between popula-
tioni and respurces. by ‘two other clauses where people are huddled together and
so-that they cennot move arms and legs. This separation pave rise to two
errors in transiation. Learners stopped the main clause after world, and made wmowwm
are huddled together:so that they cannot move arms and legs the subject of

the second part of the inain clause. . :
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Here is a similar misinte i

) . rpretation from another passage, The origi i
given first and then the misinterpretation, P el B
The uuﬁo_.smmcnmn_u Locust ﬂoa:.o_ Organization was set up more than 20
meﬂwnmmﬁo Myaa N Y as a result of its activities the damage caused lo crops

usts,(?) which used to cost farmers it

at least £15 mil
P has been reduced. miion amual
.m;n“wﬂ “Eounm:omm_ Locust Contrel Organization was set up more than 20 years
wm m,m.m Hﬂhw of the locusts activities indamaging the crops(® the
armers’ income *“ has been reduced by at least £15 million annually. (40%)

Notig i ist i
o anm h”mﬂ Eu:a misinterpretation that (1) is interpreted by the learners as effect
e o E,amMc.Eﬁ (2) cost farmers (or farmers’ income) instead of damage has
e p: ject of has been reduced. The separation of subject and verb by a
b which used 8. cost farmers at least £15 million annuelly resulted in a
llure to see the subject verb relationship.
Hemeography :
. &:.mnmnu.w.o 5..9.% that have the same spelling but 2 different meaning (and often
o m:arozv are called homographs. Often learners only know one meaning
&w:mm“_“m._ﬂ c_m homographs, or sometimes they know both meanings but cannot
1sh when ong is used and when the other i
: is used. In the pas i
o . passage, room in
o :M éwmnhﬁ _m.mm standing room only means “spzce” but some learners ::MGSEQ it
i s
- :m Mo a house or wEEEm. Similarly meet in the passage means “satisly”
but s ¢ learners gave it its more common meaning “come face to face with”. In
ano :m:_“wmmmwwmw the clause John Dalton...made the atomic theory really useful
y most of the learners as foh .
S Lra n Dalton...made th :
- : . e the atomic theor
v Hwaa wwa:% :..mm\.:b Here both the meaning and the function of make E:.aw\
oo ”Mﬂocm EaSH.HE.Qm:oz resulting from homography occurred in the same
abma«wﬁ.& he ﬁm.mmumo said, Atoms cannot be destroyed or changed in any woy by
chemicr mﬁﬁwﬂﬂ& all that can N@mea is....Most of the leamners misinterpreted
e o2 ter e uco& (demonstrative pronoun) and not as a joining word {relative
prone 3 0, they translated the sentence Atoms canmol be destroyed in any wa
:MEM mwwm_mmwmmmnmhwa. Al these things can happen. One final axmaﬂwm ou\m.
ould be enough to show the effect thi
. his miay have on understandin
.Mm another passage, about locusts, this sentence occurred They gather in lar o
warms 3 i . .
swarme %Syﬂﬂww\.ﬂa: E_w first place, as a result of their food supplies .waw.Mm
of the learners interpreted this sentence i i
; ce in the followi
ricte 1 ng way. The
Mw i QSMH .Waame swarms maogw@\.s one place (wn the first area) with the wmmawh
i . :w vod supplies are restricted. In the original, in the first place means
rstiy however most of the learners inter i i
owe preted this sequenc
the description of the locusts’ habits. i 8 comment oS part of
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Reference words:

The difficulty caused by teference words Iike iz, and that is related to
the problem of homography [t as a pronoun and formal it are homographs. That
as a demonstrative pronoun and a relative pronoun are homographs. One conumon
error with it is to interpret formal it as a pronoun. Here is the original

When you go down a coal mine it is important to try and get (o the
coal face when the fillers are at work. This is not easy...

In their trapslations several learners interpreted the passage as saying The coal mine
is important. Also, This is not easy was interpreted as The work of the fillers
is not easy. The difficulty of correctly interpreting reference words increases as the
distance betwesn the reference word and the words referred to increases and when
the reference word does not refer to a simple noun but to a phrase or clause. The
following example shows that learners may also be confused about the form of
reference words. The original was as follows,
The International Locust Control Organization was set up more then
20 years ago and as a Tesult of its activities the damage caused to
crops by locusts...
Most of the lfearners interpreted ifs as referring to locusts presumably on the analogy
it = singular, its = plural

Exercises i

Now that a few of the reading problems faced by Thai learners have
been isolated, we are able to choosc exercises that make Iearneis aware of the
difficuity. In another paper in this volume, Mark Ellis has described two excellent
exercises that do this. We will describe these exercises again in the Following section
on clause relationships using the passage on the population explosion that is given
earlier in this article as a source of examples.

Clause relationships :

1. The teacher chooses verbs or words related to verbs from the passage
and writes the list of words on the blackboard. The learners find these words in
the passage and write the subject and object (if any) of the words according to
the passage. All the verbs must be written as active verbs. So expect ocours in the
passive “can be expected to occur”, but in the exercise the learners must make it
active. So the correct answer would be (people) expect war, plague, etc. Here are
words from the passage on the population explosion.
increase/s
continue/s
live/s
include/s
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— expect/s

expeci/s

w——_..ocgur/s

upset/s.

m.ao.ﬂ_oo that upset in the passage dcts as an adjective “an upset balance”
it is related to a verb it is included in the exercise,

having to deal with the first occurrence of expect
misinterpretation that ocourred

plogue, etc.

but because
Also notice how in this exercise,
. will help the learners avoid the
in the translation, namely nobody expects war,

Here are the answers

population increase/s

rate continue/s

each person live/s

space to live include/s mountaintops etc.

w&oamm‘ expect/s  each person will have 3 to 1 g..
‘people) expect/s  war, plague, etc.

War, plague ete occur/s

overcrowded world upset/s balunce

ar N.. ,M..sa teacher cliooses sentences in the text that might be difficult for the

ners :.v Interpret because of their complicated structure. The learners break tl
sentences into parls by putting them in boxes, ot
form, The box containing the main clause
examples,

Usually each box contains a verb
Is placed highest. Here are some

1 | Bach person will have between 3 to 10
square feet of space

2 | in which to live. ]
1. have/s . __
. 2. live/s
The verb in each clause is treated as in the first exercise described above
1. each person  havels 3 i 10 square feet of space
2. each person  livefs
Notice in ihe following examples how the problems that learne
passage are clarified by putting the sentences in boxes
1 | War, plague, famine or

some other catastrophe
can be expected

rs encountered in the

2§ to occur

: E 3 | long before the population .
, reaches this: point,
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In the above cxample notice how lomg is kept near before rather than being put
in the same box as ocemr. In the translation some learners considered long as a
modifier of occur.

1 | Actually, the I | but in an

danger is not upset balance

in an overcrowded between. ..
world Iesources.

2 | where people are
huddled together

3 jso that they
camot move
arms and legs

In the above example the dotted line and the numbering show how the main clause
has been broken into two parts.
The teacher can prepare learners for this type of exercise by drawing the
boxes for them on the blackboard and then letting them break up the sentence SO
that it fits the boxes. After the learners can do this easily, the teacher gets them ,
to draw their own boxes.

Homography:

To overcome problems of homography, learnets need to be aware of the
different meanings and funclions that a form has, and need to have practice in
discriminating the meanings and functions. The following exercise tries to do this.
Notice that the instructions for the exercise indicate the possible meanings, and the
items in the exercise give discrimination practice.

Look at the two meanings of meet. Then look at the sentences and decide

which meaning is used, The first one is done for you.

meet a)—come face to face
b) - satisfy

1. Does this meet your needs? (:)]

2. PIl meet you here tOMOILIOW. () .

3. We met by chance. ) . !
4. Will this. meet the requirements? ()

5. Have we enough money to meet the expense? ()

6. The two trains met at the station. ()

If 2 homography exercise is made for formal it and the pronoun if or the two
uses of that, the instructions would also include grammatical information.

Reference words:
The first clause relationship exercise gave some practice in reference words
because in that exercise the subject and object of each verb had to be stated in a
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full form and not as a pronoun. The following exercise concentrates specifically on
reference words.

Find the underlined words in the passage and then find the words
in the passage that they refer to. The first one is answered for
you.

1. This includes (3 to 10 square feet of space in which to live)
2. Such a thing
3. they cannot move
This kind of exercise can be combined with a homography exercise in the following
way.
Find the underlined words in the passage. Some can be replaced
by other words in the passage that they refer to. Others do not
refer to other words and cannot be replaced. Write those words
from the passage which can replace some of the underlined
words. The first two are answered for you.
1. There will be ( )
2. This includes (3 to 10 square...live)
3. such a thing
4. this point
5. together so that
6. they cannot move

The type of investigation described here is full of traps and difficuities
but it does give some insight into the problems Thai learners face when reading.
Other methods of investigation will reveal different problems and hopefully confirm
the few isolated here. What is important is the principle. We should try to base
our teaching techniques and procedures on investigations of learners grappling with
the langunage. We cannot assume that because certain teaching techniques, like some

of our colleagues, are old and common, they are good. Good teaching is based on
careful investigation.



